= A
N = 0] &F AF S & AN A
20218 = 20l A LB H AT AIGEE AE D
EAN: AT AEEE AIE Y
B yac S2HA 2E
G ARBPLETAAE X -2 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ALTAYEE AL 3,539,873 2,584,871 955,002
Dl 1,000,000
= 237,000
Al 2,302,873
AL Z2ZHA S 3,524,261 2,569,738 954,523
Jl 1,000,000
o= 237,000
Al 2,287,261
ARDRECAE X - B 3,524,261 2,569,738 954,523
J| 1,000,000
o 237,000
Al 2,287,261
AR AL S22 246,981 251,538 N4 B57
201 et 9| 187,660 221,438 N33,778
01 AP 2t 2] d| 187,660 221,438 N33,778
OALARBETAAE =EZHA 139, 180
OFE=Z A 138,750
1485 67,100& * 2184 = 33 43,884
-60& =S 337,000€ = 218024 « 13| 73,466
s 50,0003 * 2140 = 23] 21,400
O £ A 430
-H =24 (682) 30,700& * 7oA = 23] 430
OARAE2LEETANAE BEEDAN HZ
1,000& * 2,4008 * 95% 2,280
oHlMaZ24+ A2 550,000& * 73] ~ 12& 46,200
206 M = Hl 59,321 30, 100 29,221
01 X2 H| 59,321 30, 100 29,221
OARARLETANYE ASAHE L S EX 24,221
OMH A~ S 9,000& * 1,300= 11,700
O&2&X 5,000 * 50004 2,500
OAZ(FHYY) 11,0008 » 711& 7,821
O M A=2(20kg) 100,000& * 22BOX 2,200
O&FLD ARE 2! 34,500
OR/0Z H 1,050,000& = 1094 10,500
OWM(H A, R2ts &) 20,000& = 1,200L 24,000
OAREDHT AL HAXGAINE(=SHIX)
1,000& * 300¥ * 23| 600
ARADETAEINE (SHI-XIE0IY) 300,000 286,000 14,000
= 237,000
Al 63,000
401 Al HI L £ 0HHI 300,000 286,000 14,000
= 237,000
Al 63,000




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 Al&H| 298,000 284,000 14,000
OATFBRESTAIE JHEALY 298,000,000 298,000
= 237,000
Al 61,000
03 Al 24| 2,000 2,000 0
OARBLETAE HHEAY 2,000,000& 2,000
ARIETAIAE 22 704,000 704,000 0
401 Al HIZL 2 0HY| 704,000 704,000 0
01 Al&H| 700,000 700,000 0
OAREBEET AL SXEHI(218HA)
700,000,000& 700,000
03 Al&E 201 Y| 4,000 4,000 0
OALAFABREEANE SXNES 4,000,000& 4,000
ARARETAIE S22 273,280 228,200 45,080
401 AlEHIZL 2 0HY| 273,280 228,200 45,080
01 Al&H| 273,280 228,200 45,080
OALRBELTAAE S22 129,400
OARBLETAE(EAEAD &) 22 Y &
A=A (AolBD]) 43,600
100,000 = 218 A = 23|
OXlotE AIZ2te] & S XA
6,600,0008 * 132 < 85,800
OAARLTTANAE S HA
330,000€ = 218 A& * 23] 143,880
SSXE H=ES LEMH AE(IIS) 2,000,000 1,100,000 900,000
J| 1,000,000
Al 1,000,000
401 AlEHI 2L 201 Y| 2,000,000 1,100,000 900,000
Dl 1,000,000
Al 1,000,000
01 Al&H| 1,996, 100 1,096, 100 900,000
OHEXNY He==2 =2MAAY
1,996, 100,000 1,996, 100
J| 1,000,000
Al 996, 100
03 AlE 201 Y| 3,900 3,900 0
OHYEXNY He==2 =2IMAAY 3,900,000& 3,900
HESATH (MALSTAISEESE AlA D) 15,612 15,133 479
ol =2 A Y| 15,612 15,133 479
oI d| 15,612 15,133 479
101 Q121 H] 15,612 15,133 479
01 2 15,612 15,133 479
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